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B4 TREDBIODBHILNDKRES TEEFDEEFSENDKRES TRZFENBBOESLNDOKRES TREDHERILNDKRES
] 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzh st 1.00 | 000 ~ 475 59.25 | Fhst | 000 ~ 000| 1.68 8.48 zhust 1.00 | 5.00 ~ 5.00 59.25 | #hs | .00 ~ 5.00| 1.68 8.48
2 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
zhst 1.00 | 0.00 ~ 6.01 7532 | #FnLS | 000 ~ 601 202 10.23 zhust 1.00 | 5.00 ~ 800 75.32 | FhS | 500 ~ 800\ 202 10.23
3 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
zhst 1.00 1000 ~ 712 90.40 | Fnls | 0oo ~ 712| 1.83 9.96 Zh st 1.00 | 5.00 ~ 9.07 90.40 | =hst | .00 ~ 9.07| 1.83 9.926
4 100kN/m#E#B 2% — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
zhst 1.00 1000 ~ 568 70.96 | Fhs | 0oo ~ 568|217 10.98 Zh st 1.00 | 500 ~ 878 70.96 | FhS | 600 ~ 878|217 10.98
5 100kN/m#E#B 2% — -~ = —|amE8BzB| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzEEZ3 — ~ — — —
Zzh st 1.00 | 0.00 ~ 702 89.10 | #hs | 000 ~ 702| 1.84 9.32 zhust 1.00] 5.00 ~ 891 89.10 | #hust | 500 ~ 891 1.84 9.32
5 100kN/m#E#E 25 — -~ = —|amz8Bz3| — ~ — — — | 100kN/miE#B %% — — ~ — —|amzE#EZ3 — ~ — — —
Zzh st 1.00 | 0.00 ~ 760 97.34 | Fhst 000 ~ 760|243 12.27 zhust 1.00 | 5.00 ~ 1107 97.34 | #hs | 600 ~ 11.07| 243 12.27
7 100kN/m#E#E 25 — -~ = —|amz8Bz3| — ~ — — — | 100kN/miE#B %% — — ~ — —|amzE#EZ3 — ~ — — —
Zzhn st 1.00 | 0.00 ~ 742 94.71 | Thds | 000 ~ 742| 2.01 10.14 zhst 1.00 | 500 ~ 1100 94.71 | #hst | 5,00 ~ 11.00| 201 10.14
g 100kN/m#E#E 25 — -~ = —|amz8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ3 — ~ — — —
zhn st 1.00 | 000 ~ 751 96.04 | Ths | 000 ~ 751 1.99 10.04 zhst 1.00 | 500 ~ 1101 96.04 | Thst | 5,00 ~ 11.01| 1.99 10.04
9 100kN/ Mm% 2% — -~ = —|amz8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ3 — ~ — — —
Zh st — -~ = —| Thst -~ = — — zh s — - ~ — —| #host — ~ — — —
10 100kN/ Mm% 2% — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zh st — - ~ = —| Thst - ~ = — — zh s — - ~ — —| £host — ~ — — —
11 100kN/m#E#B 2% — -~ = —|amz8Bz23| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zh st — - ~ = —| Thst - ~ = — — zh s — - ~ — —| #host — ~ — — —
12 100kN/m#E#B 25 — -~ = —|amE8BzB| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zh st — - ~ = —| Thst - ~ = — — zh s — - ~ — —| #host — ~ — — —
13 100kN/m#E#B 25 — -~ = —|amE8BzB| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zh st — - ~ = —| Thst - ~ = — — zh s — - ~ — —| #host — ~ — — —
14 100kN/m#E#B 25 — -~ = —|amE8BzB| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ3 — ~ — — —
Zh st — - ~ = —| Thst - ~ = — — zh s — - ~ — —| #host — ~ — — —
15 100kN/m#E#B 2% — -~ = —|amz8Bz23| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzEEZ% — ~ — — —
Zh st — — ~ = — | Thst — ~ = — — Zh s — — ~ — —| Zhst — ~ — —




